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o Please check that this question paper contains 13 printed pages + 1 Map.

o Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Time allowed : 3 hours Maximum Marks : 90
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General Instructions :
@) The question paper has 30 questions in all. All questions are compulsory.
(it)  Marks for each question are indicated against the question.

(iii)  Questions from serial number 1 to 9 are Multiple Choice Questions.

Each question carries 1 mark.

(iv)  Questions from serial number 10 to 21 are 8 marks questions.

Answer of these questions should not exceed 80 words each.

() Questions from serial number 22 to 29 are 5 marks questions.

Answer of these questions should not exceed 120 words each.

(vi)  Question number 30 is a map question of 5 marks (2 marks from History
and 8 marks from Geography).

(vii) Altach the filled up map inside your answer-book.
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Who, among the following, was the architect of the process of ‘National
Unification’ of Prussia ?

(A) Metternich

(B) . Guiseppe Mazzini

(C) Victor Emmanuel

(D) Otto von Bismarck
OR

In which one of the following regions of Vietnam did ‘Hoa Hao Movement’

begin ?

(A) Hanoi

(B) Mekong Delta

(C) DaNang

(D) Thanh Hoa

3 PO,




[image: image4.jpg]321211

Frafafea st i wim % aftResl § @ few o @ fen o R
26 SHarl 1930 Y TdaT fea®’ % w9 & TR Smen 2

@A)
®)
©
(D)

AR IRy
TATGL AferaeH
g Al
Herha AT

In which one of the following sessions of Indian National Congress, was it

declared that 26th January 1930 would be celebrated as the
‘Independence Day’ ?

(Y]
(B)
(©)

(D)

Lahore Session
Nagpur Session
Madras Session

Calcutta Session
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Which one of the following minerals is obtained from veins and lodes ?

(A)
(B)
©)
(D)

Potash
Gypsum
Bauxite

Copper
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Which one of the following was the main demand of the ‘Seven Party
Alliance’ of Nepal ?

(A)  Restoration of Parliament
(B) Power to an all party government
(C) To form a new Constitutional Assembly

(D)  All of the above
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Which one of the following political parties is recognised as a ‘National
Political Party’ ?

(A) Bahujan Samaj Party
(B) Samajwadi Party
(C) Indian National Lok Dal

(D) Rashtriya Janata Dal
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Which one of the following countries is facing the foundational
challenge ?

(A)  Nigeria

(B)  Ethiopia

(C)  South Africa
(D)  Libya
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Which of the following is not included in the terms of credit ?
(A)  Rate of saving

(B)  Rate of interest

(C)  Mode of payment,

(D)  Collateral
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Which of the following Indian companies produces medicines ?

(A)
(B)
©)
(D)

Ranbaxy
Infosys
Asian Paints

Sundaram Fasteners
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Which of the following agencies develops ‘standards for goods and
services’ in India ?

&)
(B)
©)
(D)

National Consumer Court
Consumer Protection Councils
Bureau of Indian Standards

District Consumer Courts
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How can you help the Indian Railways to run the trains as per schedule ?
Explain.

ﬁﬁ@mﬂﬁmmﬁﬁmWWmﬁm

1 TR R W E 3x1=3
Explain any three ways in which ‘Multinational Companies’ are
spreading their production.

17. mwﬁmmm%?mmﬁﬁmml 3x1=3

How are democratic governments accountable ? Explain with three
examples.

18. ‘meuﬁ%wﬁwwm,wm:ﬁmﬁaﬁasﬂt
ﬁuﬁamwﬁmﬁmaﬁmﬁl”wm%gﬂ%mm
I | 3x1=3

“Doctors posted in the rural Primary Health Centres, generally do not
! provide regular and punctual services to the centres.” Suggest three ways
| to solve this problem.

19. ﬁmﬁwmi?ﬁﬁwmmwﬁmw%?mml
1+2=3

What are demand deposits ? How is the money safe with banks ? Explain.

20. W@ﬁqﬁﬁmmﬁammaﬁﬁwﬁaﬁnaﬁw%
e 37T T e SNUTRE Teh S AR ? T IR | 3 3

Suppose you belong to a group of an environmental activist. What value
based arguments would you put forward to defend your side ? Explain.
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What is Consumer Protection Act, 1986 ? Mention its advantages to the

consumers.
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How did the Balkans become the most serious source of nationalist
tension in Europe after 1871 ? Explain with examples.

OR
How did the entry of United States into the war in Vietnam prove costly
to the Vietnamese as well as to the Americans ? Explain.
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Examine the dramatic effects of Non-Cooperation Movement on the

economic front.
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“The textile industry occupies a unique position in the Indian economy.”
Justify the statement with examples.
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| mawmﬁﬁmﬁaﬂml 5x1=5
“Roadways have an edge over railways in India.” Justify the statement
with five arguments.
26. mﬁﬁaﬁ%ﬁﬁiq‘fﬂmﬂﬂwﬁml 5x1=5
Describe any five functions of political parties.
27. Wmﬂmw@mﬁ%qﬁw@%mﬁmaaﬁﬁmﬁaﬁ
@m%?mg@ﬁa%amﬁﬁm 5x1=5
How does Indian democracy meet the expectations of Indian people
regarding democratic outcomes ? Explain with examples.
28. ‘aﬁmm’w%véﬁamw%m@@a%wﬁm@% D
e HR | 5
What are ‘Self Help Groups’ (SHGs) ? How are they emerging as an
important source of credit ? Explain.
29. ‘mm,mmﬁmmaﬁmama \” gt
= % T 59 He 1 g HR 5x1=5
“Consumer movement can be effective only with active involvement of
consumers.” Support the statement with five arguments.
P.T.O.
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Two features A and B, are marked in the political outline map of
India (on page 15). Identify these features with the help of the

following information and write their correct names on the lines
marked in the map :

A.  The place where the Indian National Congress Session
was held in September 1920.

B.  The place where the Peasant Satyagraha was started.
On the same given political outline map of India (on page 15),

locate and label the following features with appropriate
symbols :

(i) Rawatbhata — Nuclear Power Plant
(ii) Salem — Iron and Steel Centre

(iii) Vishakhapatnam — Major Sea Port
12
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Name the place where Indian National Congress Session was
held in September 1920.

Which is the place where the peasants started Satyagraha in
Gujarat ?

Name the Nuclear Power Plant located in Rajasthan.

Name the Iron and Steel Plant located in Tamil Nadu.

Which is the major Sea Port located in Odisha (Orissa) ?
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